
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

A

B

C

D

E

F

G

H

I

J

K

A

B

C

D

E

F

G

H

I

J

K

$Id: leapfrog.sch 9371 2021-08-30 19:54:47Z mskala $ 1/1

MSK 007 LEAPFROG FILTER

R14 140k

R11 140k

R19
1k

R18
1k

R13 140k

R10 140k

+9V

R55
150k 1

2

3
R56 100k

+12V

R20
1k

1
2

3

J1

R57 100k
D1

1N4148
R58
3.3k

-12V

R63
68k

D3
1N4148

1
2

3

J5

1
2

3

J6

R37 140k

1

10

2
3
4
5
6
7
8
9

P26
-12V

+12V
+9V 1

10

2
3
4
5
6
7
8
9

J7

+12V
C30 0.1uF

C31 0.1uF

-12V

R42 140k

C29
22pF

R48
1k

R47
1k

R41 140k

R36 140k

R46
1k

R45
1k

R15 140k

R12 140k

R21
1k

1

2

3

R81 100k

R59
91k

R76
2.7k

V
-

11
V

+
4

+5

-6

7

U10B
TL074

1
2

3

J3

1
2

3

J4

-12V

+12V

1

2

3

R69100k

R61
91k

1

2

3

R78 100k

Q15
2N5088

Q14
2N5088

R74 4.7M

R73 240k

R64 100k
R66 100k

1

2

3

R77
500

R72
2.7k

R68
27k

R67
11k

V
-

11
V

+
4

1

-2

+3

U10A
TL074

R80 1k

1
2

3

4
5

6

SW3
100DP1T1B1M2

D8
1N5233B

6.0V

D9
1N5230B

4.7V

D7
1N5230B

4.7V

D6
1N5233B

6.0V

R84 39k

R83 100kR82 10k

R85 100k

R79 100k

+9V

R70 100k

R65 100k

V
-

11
V

+
4

+12

-13

14

U10D
TL074

+9V

C25 100pF

R60
5.6k

1

2

3

R62 100k

1
2

3

J2
C2 0.47uF

Q9
SS8550D

H26 M3x11

H25 M3x11

H24 M3x11

H23 M3x11

H22 M3x11

H21 M3x11

H20 M3x13

H19 M3x13

H18 M3x13

H17 M3x13

Q11
SS8550D

Q13
SS8550D

Q10
SS8550D

H27 M3x11

Q8
SS8550D

Q7
SS8550D

Q6
SS8550D

Q5
SS8550D

Q4
SS8550D

Q3
SS8550D

Q2
SS8550D

Q1
SS8550D

Q12
2N5088

1
P17

1
P15

1

P14

1
P12

H36 M3x6

H38 nylon

H37 nylon

PWR_FLAG

PWR_FLAG

PWR_FLAG

H39 nylon

H40 nylon

1

P19

R90 1M

-12V

+12V

1

2

3

R89
100k

1

P11

H35 M3x6

H34 M3x6

H33 M3x6

H32 M3x6

H31 M3x6

H30 M3x6

H29 M3x6

H16

H15

H14

H13

H28 M3x11

1
H10

-12V

1

10

2
3
4
5
6
7
8
9

P42

1

10

2
3
4
5
6
7
8
9

J9

+12V

1

10

2
3
4
5
6
7
8
9

P40

+12V

1

10

2
3
4
5
6
7
8
9

J8

1
H12

1
H11

1
H9

1
H4

1
H3

1
H2

1
H1

1
H8

1
H7

1
H6

1
H5

-12V

+12V

R87 390k

1
P1

1

P6

1

P5

1

P2

1

P3

1

P4

C21
470pF 1%

C20
470pF 1%

C9
470pF 1%

C8
470pF 1%

C7
470pF 1%

OUT 1

G
N

D
2

IN3

U8
78L09

R88
680k

V
-

11
V

+
4

1

-2

+3

U4A
TL074

-12V

+12V

1

2

3

R50
100k

R86 OMIT

-12V

+12V

+9V

1

10

2
3
4
5
6
7
8
9

P44

+9V

1

10

2
3
4
5
6
7
8
9

J10

-12V

V
-

11
V

+
4

1

-2

+3

U7A
TL074

+12V

+12V+9V

+9V

-12V
-12V

+12VC18
0.1uF

C24
0.1uF

V
+

11

12

-13

+14

Ibias15

16

V
-

6

U1B
LM13700

V
-

11
V

+
4

+10

8

-9
U4C
TL074

V
-

11
V

+
4

+5

-6

7

U7B
TL074

R5
5.6k

R2
5.6k

1

2

3

R8
2k 10

11
9

U1D
LM13700

+12V

+12V+9V

+9V

-12V
-12V

+12VC5
0.1uF

+12V

C1
0.1uF

1

V
+

11

Ibias2

+3

-4

5

V
-

6

U1A
LM13700

+12V

+12V+9V

+9V

-12V
C10

0.1uF

-12V

C4
0.1uF

C13
0.1uF

1

V
+

11

Ibias2

+3

-4

5

V
-

6

U2A
LM13700

V
-

11
V

+
4

+12

-13

14

U5D
TL074

V
-

11
V

+
4

+10

8

-9
U5C
TL074

V
-

11
V

+
4

1

-2

+3

U5A
TL074

R24
5.6k

R22
7.5k

1

2

3

R26
2k 10

11
9

U2D
LM13700

+12V

1

2

3

R9
2k

11

7

8

U2C
LM13700

C3
0.1uF

+12V

+12V+9V

+9V

-12V
C12

0.1uF

-12V

R3
3.6k

C6
0.1uF

C15
0.1uF

V
-

11
V

+
4

+10

8

-9
U3C
TL074

R29 OMIT

R31 910k

R33 820k

R35 22k

R39 24k

R44 4.3k

1

2

3

R32 100k

1

2

3

R34 1k

R71
10k NTC

NTCLE203E3103FB0

+12V

C14
0.1uF

V
+

11

12

-13

+14

Ibias15

16

V
-

6

U6B
LM13700

V
-

11
V

+
4

+10

8

-9
U7C
TL074

V
-

11
V

+
4

+12

-13

14

U7D
TL074

V
-

11
V

+
4

+12

-13

14

U3D
TL074

R25
5.6k

R49
8.2k

1

2

3

R27
2k

11

7

8

U6C
LM13700

C17
0.1uF

R75
22k

+12V+9V

+9V

-12V
C23

0.1uF

-12V

+12V

V
+

11

12

-13

+14

Ibias15

16

V
-

6

U2B
LM13700

V
-

11
V

+
4

1

-2

+3

U3A
TL074

V
-

11
V

+
4

+5

-6

7

U5B
TL074

V
-

11
V

+
4

+5

-6

7

U3B
TL074

R6
5.6k

R53
1k

1

P23

+12V

1

10

2
3 4
5 6
7 8
9

P24 + C11
10uF

+ C16
10uF

D4
1N5818

D5
1N5818

-12V

R51 140k

C22
0.1uF

1

P22

R52
1k

1

V
+

11

Ibias2

+3

-4

5

V
-

6

U6A
LM13700

+ C19
10uF

V
-

11
V

+
4

+12

-13

14

U4D
TL074

R40 4.3k

V
-

11
V

+
4

+10

8

-9

U10C
TL074

1

2

3

R28 OMIT

1

2

3

R30 100k

1

2

3

R43 200

1

2

3

R38 2k

+9V

R 1

A
2

K
3

U9
TL431

C26
0.1uF

C27
0.1uF

+ C28
10uF

R54
2.4k

R23
6.2k

R1
6.8k

R16
1k

10

11
9

U6D
LM13700

+12V +9V

R4
5.6k

V
-

11
V

+
4

+5

-6

7

U4B
TL074

1

P7

1

P8

1

P9

1

P10

1

P13

1

P16

11

7

8

U1C
LM13700

R17
1k

1

2

3

R7
2k

VINTB

VOUTPUT

VREF6.5

VOUTPUT

VINTC

VINTE

VREF6.5

VINTD

VINTB

VREF6.5

VINTA

CVLIN

VINPUT

VREF6.5

VREF6.5

VREF6.5

CVLIN

CVLIN

CVLIN

VREF6.5 CVLIN

VINPUT

VOUTPUT

VCAOFS

VCAOFSVCAOFS

CVLIN

OMIX+

CRESD CRESE

OTA+A

OTA-A

OTA+B

OTA-B

OTA+C

OTA-C

OTA+D

OTA-D

OTA+E

OTA-E

CRESC

OMIX-

OTA+A
OTA-A

CRESA
VINTA

OTA+B
OTA-B

CRESB
VINTB

OTA+A
OTA-A

VOUTPUT

VINPUT

VINTDVINTC

VINTBVINTA

VINTD

VINTC

CVLIN

VINPUT

FBSW

FBSW

VINTB

CC

CC

CVLIN

VINPUT

FBSW
VOUTPUT

CC

VINTE

VINTE

CRESA CRESB

OTA+E

VINPUT

OMIX+
OMIX-

OTA+E
OTA-E

CRESE
VINTE

VINTB

VINPUT

OMIX+
OMIX-

VINTA
OTA-E

CRESE
VINTE

VINTE

VINTD VINTD
VINTA VINTA

VINTD

VINTA

CRESA

OTA-B

CRESB

OTA+C
OTA-C

CRESC

OTA+B

VINTC

OTA+D
OTA-D

CRESD
VINTD

OTA+C
OTA-C

CRESC
VINTC

OTA+D
OTA-D

CRESD
VINTD

VINTC

BOARD TO BOARD CONNECTORS

MOUNTING HOLES
AND HARDWARE

output

input

VCA CV

V/oct

exp FM

lin FM

Note that wherever a resistor offers a
choice of two connections, like R10 at
right, the dotted box around one of
them shows the connection for a
standard build; the other is provided
on the PCB to allow flexibility for
defining other transfer functions.

5V input at max sensitivity gives a
little over unity gain, to comfortably
allow oscillation while compensating
losses elsewhere; normalling is
equivalent to 5.14V input.

VCA

AUDIO IN/OUT/FEEDBACK

OK to substitute the cheaper
2N3904 here, but 2N5088 is
specified to reduce the
number of different parts
on the BOM.

core
offset
trim

V/oct
tracking
trim

bias current 230 uA nominal

CONTROL VOLTAGE PROCESSINGPOWER AND VOLTAGE REFERENCE

OUTPUT MIXER

INTEGRATOR E

INTEGRATOR C

control current linear to frequency
100uA@1kHz

VCA
offset
trim

control current linear to frequency
100uA@1kHz

control current linear to frequency
100uA@1kHz

control current linear to frequency
100uA@1kHz

INTEGRATOR D

control current linear to frequency
100uA@1kHz

PCB provides pads to optionally connect resistors
to either input of U7B as necessary for desired
output coefficients.  In standard build they are:

alpha0= 0.00000000    R28+R29 = infinity
alpha1= 0.00447430    R30+R31 = 961.0437k
alpha2=-0.00483124   R32+R33 = 890.0415k
alpha3= 0.19307299    R34+R35 = 22.2714k
alpha4=-0.17101598   R38+R39 = 25.1438k
alpha5= 0.97829992    R43+R44 = 4.3954k

Accordingly, R33 and R39 go to negative input,
R31, R35, and R44 to positive, and R29 and its
trimmer R28 are omitted.

Resistor sum = 4.3k/alpha

R86 is needed when the sum of gains is not
unity; see notes.  In the standard build, it is
omitted.

INTEGRATOR A INTEGRATOR B


